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Passage A

Adam Smith, writing in the 1770s, was the first person
to see the importance of the division of labour and to explain
part of its advantages. He gives as an example the process
by which pins were made in England.

“One man draws out the wire, another strengthens it,
a third cuts it, a fourth points it, a fifth grinds it at the top
to prepare it to receive the head. To make the head requires
two or three distinct operations. To put it on is a separate
operation, to polish the pins is another. It is even a trade by
itself to put them into the paper. And the important busi-
ness of making pins is, in this manner, divided into about
eighteen distinct operations, which in some factories are all
performed by different people, though in others the same
man will sometimes perform two or three of them. ”

Ten men, Smith said, in this way, turned out twelve
pounds of pins a day or about 4,800 pins a piece. But if all
of them had worked separately and independently without
division of labour, they certainly could not, each of them,
have made twenty pins in a day and perhaps not even one.

There can be no doubt that division of labour, provided

v 1.



that it is not taken too far, is an efficient way of organising

work. Fewer people can make more pins. Adam Smith saw

this but he aiso took it for granted that division of labour is

in itself responsible for economic growth and development

and that it accounts for the difference between expanding e-

conomies and those that stand still. But division of labour

adds nothing new; it only enables people to produce more of
what they already have.
1. According to the passage, Adam Smith was the first per-
son to
"~ A) take advantage of the division of labour
B) introduce the division of labour into England
C) understand the effects of the division of labour
D) explain the causes of the division of labour
2. Adam Smith saw that the division of labour
A enabled each worker to make pins more quickly and
" more cheaply.
B) increased the possible output per worker
C) increased the number of people employed in factories
D) improved the quality of pins produced
3. Adam Smith mentioned the number 4,800 in order to

A) show the advantages of the division of labour

B) show the advantages of the old craft system

C) emphasize how powerful the individual worker was
D) emphasize the importance of increased production
« 2



4. According to the writer, Adam Smith’s mistake was in
believing that division of labour
A) was an efficient way of organising work
B) was an important development in methods of produc-
tion
C) inevitably led to economic development
Ij) increased the production of existing goods
5. “Provided that it is not taken too far” (in the first sen-
tence of the last paragraph) means .
A) if work is done near the factory
B) if the factory is not too big
C) if it is not led to extremity

D) if workers don’t have to go a long way

( Passage B

When Americans consider families, many of them think
of a “traditional family”. A traditional family is one in
which both parents are living together with their children.
The father goes out and works and the mother stays home
and rears the children. The biggest change in families in the
United States is that most families today do not {it this im-
age. Today, only one out of three American families is a
“traditional family” in this sense,

The most common type of family now is one in which
both parents work outside the home. In 1950, only 20 per-

« 3.



cent of all American families had both parents working out-
side the home. Today, it is 60 percent. Even women with
young children are going back to work. About 51 percent of
women with children younger than one year old now work
outside the home.

Another big change is the increase in the number of
families that are headed by only one person, usually the
mother. Between 1970 and 1988, the number of signle —
parent families was more than doubled—from 3. 8 million to
9. 4 million. In 1988, nearly one out of every four children

under 18 lived with only one parent. Some families look

even less like the typical traditional family. They may con-

sist of a couple of one race who have adopted children of an-

other race, or from another country. In many states, single

people may also adopt children. Some people take in foster
children—children whose parents cannot take care of them.

Another change is that families in the United States are
getting smaller. In the mid-1700s, there were six people in
the average household. Today the average household con-
tains between two and three people.

One recent change is that the number of marriages is
rising. The number of babies born also has been climbing
steadily for the past 10 years. Many experts see these trends
as a sign that Americans are returning to the values of mar-
riage and family.

To understand why these changes are happening, we

o 4



ought to know the history of the family in the United
States.

Note:
@ foster;
6. From the passage, we know that the biggest change in
American families is that
A) people’s concept of “traditional family” changes
B) women are more financially independent than they
used to be
C) the size of a family becomes smaller and smaller
D) more and more parents do not live together with their
children
7. All of the following statements are true according to the
passage except that
A) we may find members of different nationalities in an
American family
B) itis possible in the US that unmarried people may al-
" 50 have children
C) most American women will work soon after they de-
liver children
D) it is common that there is no father or mother in an
American {amily
8. In paragraph five, household means
A) family B) a place to live
C) home D) all family members
9. It can be inferred from the last part of the passage that
5



A) now the American birth rate is rising
. B) American families are getting bigger
C) Americans will return to their traditional family
D) now Americans appreciate their traditional family
10. The paragraph following this passage will most probably
discuss
A) the American family pattern
B) the typical traditional family
C) the history of American family

D) the American concept of family

Passage C

The United States is a country made up of many differ-
ent races. Usually they are mixed together and can’t be told
one from another. But many of them still talk about where
their ancestors came from. It is something they are proud
of.

The original Americans, of course, were the Indians.
The so-called white men who then came were mostly from
England. But many came from other countries like Germany
and France.

One problem the United States has always had is dis-
crimination. As new groups came to the United States they
found they were discriminated against. First it was the Irish
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and Italians. Later it was the blacks. Almost every group
has been able to eventually escape this discrimination. The
only immigrants who have not are the blacks. Surprisingly
enough the worst discrimination today is shown towards the
Indians.

One reason the Indians are discriminated against is that
they have tried so hard to keep their identity. Of course they
are not the only ones who have done so. The Japanese have
their Little Tokyo in Los Angeles and the Chinese a China-
town in New York. The Dutch settlement in Pennsylvania
also stays separate from other people. Their towns are like

something from the 19th century. They have a different rea-

son than the other groups for staying apart. They live sepa-

rately for religious reasons rather than keeping together in a

racial group.
Although some groups have kept themselves separate

and others have been discriminated against, all groups have
helped make the United States a great country. There is no
group that has not helped in some way. And there is no
group that can say they have done the most to make it a
great country.

Many people still come from other countries to help the
United States grow. It is certain that in the future the Unit-
ed States will still need the help of people from all racial
groups to remain a great country.

11. Which of the following statements can best describe the
7



12.

13.

14.

main idea of this passage?
A) The United States is a country made up of many dif-
" ferent races.

B) Discrimination is the most serious problem in the U-
nited States.

C) All races in the United States have helped make the
country a great one.

D) The prosperity of the United States is mainly due to
the hard work of the most discriminated races.

In the first paragraph, the word “told” means

A) separated B) revealed
C) distinguished D) made known
This passage implies that discrimination is a problem
which
A) many races in the United States have experienced
B) is still very serious in the Unites States
C) has already been solved in the United States
D) is strongly opposed by many different races in the
Unites States
The main reason why the Indians are most discriminated
against is that
A) they have tried hard to keep their religions
B) they have tried hard to live together to keep their In-
dian customs
C) they are the only ones who have tried to keep their i-
8



dentity
D) they discriminate many other races
15. The Dutch live separately in Pennsylvania
A) to escape discrimination
B) to keep together in a racial group
C) to enjoy themselves in their own towns

D) for religious reasons
Passage D

The school is a complex social structure, existing in its
own right yet surrounded by other groups which to some ex-
tent control and influence it. Individuals in a school are sub-
ject to a variety of pressures both within the school and out-
side it. What are these influences, and where do they origi-
nate?

There are four major elements which produce and re-
ceive influences: the teacher, the child, the school itself and
the outer community. These four elements will influence
and be influenced by each other at many levels in a variety of

ways. The teacher, for example, brings into the school all

his own habits of mind, attitudes, beliefs, values, ways of

doing things and seeing the world which he was inherited

from the society in which he was brought up. These factors

will influence the children, the school and the community
outside. The child brings into the school everything which
» 9 -



he has learned in his family —habits, attitudes, beliefs etc.
—and the teacher and the school will respond to these. The

school itself is a social organization with special require-

ments of behaviour, influenced by the generally accepted

values and traditions of education, built up over the years.

Both the child and the teacher must adapt themselves to
these. The school influences the wider community around
it, both by producing the manpower with the skills needed
by society, and by shaping the beliefs and attitudes of the
young entering society. As for the community, it influences
the actual organization of the school through such groups as
governors, parent — teacher associations, administrators
etc. » and in a less formal way, it is represented by those
working in the school, the children, the teachers and the
servicing staff. A

With all these factors in mind, it is obvious that schools
may differ greatly according to the nature of the community
which they serve. Every area has its own geographical, eco-
nomic and historical character which may be reflected in the
school. For example, a school serving a community which is
dominated by one major industry may need to organize itself
according to the expectatons of job opportunities which will
be available to the children as they leave to find work. A
school in a remote rural area may be slanted in a different di-
rection. Similarly, the presence in the neighbourhood of one

particular social class, race or religion may be reflected in
«10 -



